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TYTacll 13.3
A 1:
Frafefaa demnst 1 waiia =0 4 ffen:
279404, 3006194, 2806196, 120719, 20068
Lam1:

(i) 2,79,404 =2,00,000 + 70,000 + 9,000 + 400 + 00 + 4

=2x 100000+ 7x10000+9x 1000 +4x100+0x10+4x1
=210 + 710" +9% 10" + 4% 10* +0x10' +4%10"

(ii) 30,06,194 =30,00,000+0+0+6,000+100+90+ 4

(iii) 28,06,196

=3 x 1000000 + 0 x 100000 + 0 x 10000 + 6 x 1000 + 1 x 100 + 9x 10+ 4x 1
3x10° +0x10° +0x10" +6x10" +1x10° +9x10+4x10"
20,00,000+ 8,000,000+ 0+ 6,000+ 100+90+6

=2 x 1000000 + 8x 100000 + 0 x 10000 + 6 x 1000 + 1 x 100 +9x 10 +6x 1
= 210" +8x10" +0x10* +6x10" +1x10° +9x10+6x10"

(iv) 1,20,719 =1,00,000 + 20,000+ 0+ 700+ 10+9

=1x 100000 +2x10000+0x1000+7x100+1x10+9x%x1
= 1= 107 +2%10% +0x10° +7 =10 +1x10' +9x10"

(v) 20,068  =20,000+ 00+ 00 + 60 +8

H¥H 2:

=2x10000+0x1000+0x100+6x10+8x1
= 2x10" +0x10* +0x10* +6x10' +8x10"

Frafafea vefia =t 8 @ vde & fag den 3@ S

(a)Bx10%+6x103+0x102+4x 10 +5x10Y
(b)4x105+5x103+3x102+2x10°

() 3x10%+7x102+5x 100
(d)9x105+2x102+3x10?

I 2:
(a)

(b]

(c)

(d)

Bx10*+6x103+0x102 +4x100 +5x 10"
=8x10000+6x1000+0x100+4x10+5x1

= B0000 + 6000 + 0+ 40 +5

= 86,045

Ax105+5x103 +3x 102+ 2x 100

=4 x100000+0x10000+5%x1000+3x100+0x10+2x1
= 400000+ 0+ 5000+ 3000 +0 + 2

= 4,05,302

3x104+7x102+5x 107
=3x10000+0x1000+7x100+0x10+5x1
=30000+0+700+0+5

= 30,705

O9x105+2x102+3x 10!

=9x 100000 +0x 10000+ 0x1000+2x100+3x10+0x1
=000000+0+0+200+30+0

=9,00,230
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(HETY - 13) (=TaTe 3 1)
(BT - VII)
A9 3:
Frofafas Tema & ame wu T seg Bife:
(i) 5,00,00,000 (i)  70,00,000
(iii)  3,18,65,00,000 (iv) 3,90,878
) 39087.8 (vi) 3908.78
E I 3:
(i) 5,00,00,000 =5x 1,00,00,000 = 5x10
(i) 70,00,000 =7 x 10,00,000 = 7x 10"
(iii)  3,18,65,00,000 = 31865 x 100000
=3.1865 x 10000 x 100000 = 3.1865x 10"
(iv)  3,90,878 = 3.90878 x 100000 = 3.90878x 10°
) 39087.8 = 3.90878 x 10000 = 3.90878 x10°
(vi)  3908.78 =3.90878 x 1000 = 3.90878x 10’
H¥ 4:

i syl o use g9 ardl (3 arelh) Semsi $ 7FE 9 5 e S|
(a) Tt 3R <5 & o= P15t 384,000,000 m &1
(b) fFafa = & e @t 91a (@1 3) 300,000,000 m/s &
(¢) Tt 1 591 1,27,56,000 m g
(d) 4 &1 =79 1,400,000,000 m 2|
(e) U TR # 3f¥d 100,000,000,0000 TR &
(f) fay ¥sa (@1 ¥R H8d) 12,000,000,000 T QAT Saferd fsar mn 1
() SeBTERTT & Hen I 3 @1 gt 300,000,000,000,000,000,000 m HTHTerd @1 T 8
(h) 1.8 g YR aTell Ul 1 U 44 H 60,230,000,000,000,000,000,000 37 (molecules) Bl 3
(i) 921 # 1,353,000,000 km? TE 1 & |
(j) A/ 2001 H YR & WSS 1,027,000,000 o
.34
(a) gt SR < & ot #1 gl = 384,000,000 m
=384 x 1000000 m
=3.84 x 100 x 1000000
=3.84x10" m

(b) Frafd =M # ysm @t T = 300,000,000 m/s
=3 x 100000000 m/s
= 3x10" m/s

(c) 9t &1 = =1,27,56,000 m
=12756 x 1000 m
=1.2756 x 10000 x 1000 m
= 1.2756x10" m

(d) gd F1 = 1,400,000,000 m
=14 x 100,000,000 m
=1.4x10x 100,000,000 m
= 1.4%10" m
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() U TSR H e @l = 100,000,000,000
=1 x100,000,000,000
= 1x10"

(n fay gsa [ﬁ"'\' Hsd) 3| HY =12,000,000,000 years
=12 x 1000,000,000 years
=1.2x10x 1000,000,000 years
1.2x10" years

(g) HFPEFME AL I G I gl =300,000,000,000,000,000,000 m
= 3 x 100,000,000,000,000,000,000 m
=3x10" m

(h) 1.8 g HR aTelt Ui &1 U g | 347 = 60,230,000,000,000,000,000,000
= 6023 x 10,000,000,000,000,000,000
=6.023 x 1000 x 10,000,000,000,000,000,000
= 6.023x10%

(i) 9ol 91wy o = 1,353,000,000 km?3
=1,353 x 1000000 km?
=1.353 x 1000 x 1000,000 km?
= 1.353x10" km?

(j) A/ 2001 H YR FI SHGE =1,027,000,000
=1027 x 1000000
= 1.027 x 1000 x 1000000
= 1.027x10"
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